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g P eI AT B4 (3% AT )
=3 =R M
9.57 7.226 9.538 6.372 8.173
X 2 X 4 X 4 X 4 X 6
2.399 7.417 7.823 8.829 6.976
X 3 X 4 X 9 X 5 X 4
6.964 8.794 0.912 4.434 0.395
X 7 X 2 X 4 X 6 X 4
8.692 0.298 6.686 0.568 6.819
X 2 X 8 X 8 X 3 X 9
2.328 8.196 5.16 6.779 3.645
X 8 X 5 X 3 X 2 X 6
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e S F ﬁ B AT B (3R] AT HS)
0|2 =R e
9.57 7.226 9.538 6.372 8.173
X 2 X 4 X 4 X 4 X 6
19.14 28.904 38.152 25.488 49.038
2.399 7.417 7.823 8.829 6.976
X 3 X 4 x 9 X 5 x 4
7.197 29.668 70.407 44145 27.904
6.964 8.794 0.912 4.434 0.395
X 7 X 2 X 4 X 6 X 4
48.748 17.588 3.648 26.604 1.58
8.692 0.298 6.686 0.568 6.819
X 2 X 8 X 8 X 3 X 9
17.384 2.384 53.488 1.704 61.371
2.328 8.196 5.16 6.779 3.645
X 8 X 5 X 3 X 2 X 6
18.624 40.98 15.48 13.558 21.87
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